Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 9 am QuizII 9/15F Bxam #
Name L_,D A Pnnt Name

Please show work on all qugtlons for partial credit even on questions which do not specify. (25 total pts)

L. a. Balance the following reaction by filling in the blank for the missing coefficient. (4 pts, 2 pts each)

FexO3 (s) + ;ZZ CO (g) 2 /~ Fe(s) + 3CO2(g)

b. Show the number of each ofthe elements on the/feactant and produ?s'de of the above
reaction which you just balanced. (4 pts) °/

e predut §v o
2. The name for HCI%A ('}( V0 C// / 0. (4 pts)
- C QC( 6(

3. Given the following reaction, if you start the with 67.2 grams of C , what i is your theoretlcal yield
of CO in grams 7 (MW of CO=28.01 g/ mol) (show work) (8 pts)

SiO2(s) + 3C(s) = SiC(s) + 2CO(g
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C4 Is Mg (OH): [ (soluble) or{(insoluble)] (circle one) in water ? (5 pts)

5. Extra Credit: (4 pts, 2 pts each blank)

Given the following molecular reactants, write the product of the precipitation reaction as a molecular
reaction. '




Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 10 am Quiz IT 9/15 F Exam #

Name /( ' oA Print Name
Please show work on all’questions for partial credit even on questions which do not specify. (25 total pts)

1. a. Balance the following reaction by filling in the blank for the missing coefficient. (4 pts, 2 pts each)

4HCI() + 02() > _L HO(®) + 2 Ch(g)

b. Show the number of each of the elements on the reactant and product side of the above
reaction which you just balanced. (4 pts)

& L
& U reodant 2 2 046

A Q 4 e ' Q\Cﬂ\%;\
2. Thc;;lme for H2SOy is S ( 'J{C A /~ C Q C (“/,J (4 pts)

3. Given the following reaction, if you want to make 18.9 grams of NOz , how many grams of N.Os do
youneed 7 (MW of N2Os = 108.02 g/mol ) (MW of NO2= 46.01 g/ mol ) (show work) (8 pts)

2N20s5(g) 2 4NO2(g) +02(g) /\/ /(/
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4. Is  BaSOs [ (soluble) of (insoluble) (circle one) in water ? (5 pts)
5. Extra Credit: (4 pts, 2 pts each blank)

Given the following molecular reactants, write the product of the precipitation reaction as a molecular

reaction. @@

W@soﬁ, (aq) > @&1 SOQ (5) N Z/l/@(/(’

@
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Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

1. a. Balance the following reaction by filling in the blank for the missing coefficient. (4 pts, 2 pts each)

FerOs (s) +  CO(g) > _ Fe(s) + 3CO2(g)

b. Show the number of each of the elements on the reactant and product side of the above
reaction which you just balanced. (4 pts)

2. The name for HCl is (4 pts)

3. Given the following reaction, if you start the with 67.2 grams of C , what is your theore’ucal yield
of CO in grams ? (MW of CO =28.01 g/ mol) (show work) (8 pts)

8i0z2 (s) + 3C(s) > SiC(s) + 2CO(g)

Ao




4. Is Mg (OH), [ (soluble) or (insoluble) ] (circle one) in water 7 (5 pts)
S. Extra Credit: (4 pts, 2 pts each blank)

Given the following molecular reactants, write the product of the precipitation reaction as a molecular
reaction. '

LiOH (aq) + Mg NOs)2 (aq) >




Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 10 am Quiz II 9/15 F Exam #

Name Print Namé

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)

1. a. Balance the following reaction by filling in the blank for the missing coefficient. (4 pts, 2 pts each)

AHCI(@ + O2(9) > __ HO(g) +__ Ch(y)
b. Show the number of each of the elements on the reactant and product side of the above
reaction which you just balanced. (4 pts)

2. The name for H,SO; is (4 pts)

3. Given the following reaction, if you want to make 18.9 grams of NO,, how many grams of N»Os do

youneed ? (MW of N2Os = 108.02 g/mol ) (MW of NO,= 46.01 g/ mol ) (show work) (8 pts)
2N20s(g) 2> 4NO2(g) +02(g)
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4. Ts Ba SO4 [(soluble) or (1nsoluble)] (cu:cle one) in water ? (5 pts)

5 Exmja Credlt (4 pts, 2 pts each blank) _ . R

leen the followmg molecular reactants, write the product of the preéipitation réaction -as\a,‘molecrglagf‘; '
reaction. - ‘ ' o R

Tap

BaClz (ag). + Nay SO, (aq) >

Sy
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